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Topic:- GENERAL HINDI

1) 2 f3T T faeeal A & smswr &1 faeiiv Ul
1. SgldhY

2. FRTS™R

3. 3G

4. SHIR

Correct Answer :-

2) 1 3 TC el # | 3w &1 HETf 2 g
1. 3fal

2. Sipid
3. $PR
4, 3fHfq

Correct Answer :-

Correct Answer :-



4) Hiaar HI arell Tt & T wyged fovar 9+ a1er Ue U= Sarsu|
1. PTATaR
2. Hagrt
3. SidaTT
4. parAl

Correct Answer :-

5) '3 BT HIY AT 37 GgTax 1 3 |1 32
1. TTe] ferd

2. i ot ofie & fyur 717

3. 3N T gl 9 8T

4. 10 BT GUBR 931

Correct Answer :-

. e &t ofic ® four v

6) “&dl Yo+ d Udhe ¥, dfg AR SIS WIS |

a9 o1 faua fay, sieg yed faams 1 17 ¥ wgad ©¢ &1 ¥ Jarsu|
1. IOTS Ba

2. ARSI &¢

3. A Bq

4. QBT B4

Correct Answer :-

. ARIBS

7) TRIA-TIET d€ U avar 9§ O™ |
T S99 PR 2| Bl fadwew g2
1. YifeTH™ PR



2. Y 3DPR
3. 3UHT APR
4, 3fIUTY DR

Correct Answer :-

8) RR W I8 =11, 3R I3 @Td A,
e siHig WR, sifafg M ST YRl |

iR AT A AT e?
1. AT X

2. d Y

3. Hikd 39

4, YT g

Correct Answer :-

o NI

9) ‘gHEMATAr ¥ WT U B AT 7?2
1. @

2. drdl

3. gBH
4. g

Correct Answer :-

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Much water has flowed under the bridge since I came here last; the city is a bewildering maze of skyscrapers.
1. He has travelled far and wide

2. He hasn’t come back to the city for quite a while

3. A lot of changes have taken place

4. The speaker is happy to come back to the city

Correct Answer :-
« A lot of changes have taken place

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

The demand for computer controlled robots is rapidly increasing.
1. out look

2. price

3. openly

4. number of requests

Correct Answer :-

« number of requests

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

After the teacher leaves the class, everyone__ to go out.
1. had been planning

2. plans

3. are planning

4. is planned

Correct Answer :-

« plans



Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

She  the piano for four hours and her fingers
1. had been playing, were hurting

2. played, hurt

3. has played, hurting

4. has been playing, hurted

Correct Answer :-

« had been playing, were hurting

5) Choose the appropriate adverb clause from the options to complete the given sentence:
They can stay

1. they are

2. when they are

3. wherever

4. where they are

Correct Answer :-
« where they are
6) Out of the following four options, choose the incorrect sentence:

1. I come from a service family and we spent our entire childhood travelling from one part of the country to
another.

2. It's almost inevitable; a new government comes to power and a new minister takes charge of a portfolio.
3. I have said this before and I will say this again, Goa look lovely in the monsoon.

4. I understand from your email that you are looking for the cheapest way to get to Scotland.

Correct Answer :-
« [ have said this before and I will say this again, Goa look lovely in the monsoon.

7) Out of the following options, choose the most appropriate usage to fill in the blank:
The new company has been placed higher than its arch rivals 20 most-admired global companies.

1. over a list of



2. with a list of
3. on a list of
4. at the top of

Correct Answer :-

e on a list of

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Trichinosis and the tapeworm from the flesh of pigs and consumption of meat from cattle suffering with
tuperculosis are only some of the terrible consequences that may afflict flesh eaters.

P. Animals undoubtedly suffer sometimes frantically, with fear when being led to the slaughter house.

Q. It may be saturated to a greater or less degree with what may be called fear poisons.

R. The flesh of dead animals is diseased in another more subtle way.

S. The sight and smell of blood and the harassment by men and dogs before their final end, arouses
emotions which cause a toxic condition of the tissues.

6. When slaughtered, the poisons, which, by ordinary means, would have been eliminated through the
kidneys, are arrested in the tissues

1. RQPS
2. QPRS
3. PSQR

4. QRSP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Who is the first former Chief Justice of India to be appointed as the Governor of a State? /

YRA & YW Yayd &I Yrarhi=r #14 g, 5 fodt 30 & st & v o fAged fHa e g
1. R.C. Lahoti / 3R ¥l @TgIct

2. P. Sathasivam / Ut QUTRIGH

3.1.S. Verma / & TH qHI

4. V.N. Khare / 9 T &R

Correct Answer :-

. P. Sathasivam / O 9YTRIGH



2) In which of the following regions did Rani Avantibai Lodhi raised and led an army against the British? /

frafafRaa A A 5 &7 ° = sradiare a3 il & fRaame ue J+1 &1 fAwior fear
1. Sagar / IR

2. Nagpur / NTYR
3. Mandla / HiSdl

4. Kalachuri / Wﬁljf

Correct Answer :-

« Mandla / Higdl

3) is the first station to be redeveloped through Public Private Partnership (PPP) route under
the Station Redevelopment Program of Indian Railways. /

YRART ¥ed WX TGS HRIHH & i Arael-Td—{-Ioil ATgigR] A1 & A1ead | gAfdpiRaa
e ST aTer ugar wWRE gl

1. Dewanganj Railway station / GIaTTIST XTd X2
2. Habibganj Railway station / EIEUGEGERSEIE]
3. Ujjain Junction Railway station / I SR IAd T

4, Gwalior Junction Railway station / TqTIOIER SIRM Ydd W

Correct Answer :-

« Habibganj Railway station / EICHS YT T

4) Anju Bobby George is associated with which of the following sports? /
3iv] ardt Sifet Frafafed 3 9 fea 9o 4 awfa g2

1. Chess / RISl

2. Athletics / TUdfead

3. Badminton / SSf¥ed

4. Shooting / BEUSEISI]

Correct Answer :-

. Athletics / TUQfeay

5) The Primitive form of cultivation ‘Slash and burn’ is called as in the Madhya Pradesh region. /



HO UG GTH TN CS T DI WAl PISMGATT_ Hgalar gl
1. Dahiya / GIfgdl

2. Dipa / faa

3. Khil / @

4. Vlare / e

Correct Answer :-

« Dabhiya / ET%QT

6) ‘When Breathe becomes air’ is the memoir of which Indian-American neurosurgeon? / ‘
=1 Y I Tuw, g YRAY-3mRe RIS T IR 32

1. Khaled Hosseini / Qfere Bﬁ?ﬁ

2. Siddhartha Mukherjee / mﬁﬂ"@ﬁﬁ

3. Abraham Verghese / 3§llgH Fiffs

4. Paul Kalanithi / UTef STt

Correct Answer :-

« Paul Kalanithi / OTd QT

7) Ratio of width of India’s national flag to its lengthis ./
YR & IMERT 0 P NSTS I SHS! AaTS BT U B
1.2:3

2. 1.5:3

3. 1.5:2

4.3:2

Correct Answer :-

e 2:3

8) Gambia is surrounded geographically by which of the below African countries? /
ferar imiferes wu S Ay snpte! 3= & A fvas gRIRRTgam 32

1. Sudan / {sSTq
2. Burkina Faso /WW



3. Senegal /T
4, Ghana / YTl

Correct Answer :-

« Senegal / I

9) How frequent is the reporting done on “the technical achievement on various aspects of MP “District
Informatics Center’ performance”, using DISHA (a web-based Information System)? /

fa=m (@ A5-smenfyd GEAT yomre) o1 IUGHT HRd §U, AU Forer GEAn fage 5 e[
fafi= et W ae-iat Suafsr w feat IR fuifén &t wrdi 82

1. Quarterly / BIIFEY
2. Weekly / W
3. Yearly / ClNEY

4. Monthly / ATRI&

Correct Answer :-

« Monthly / ATRI®

10) In MP, is the nodal agency for the production and processing of non-timber forest
produce. /

Heg YT H, R-B1Y ([AT-ferR) TI3AIE & I 3R TH1YH & e Alsd waidl g1

1. Ministry of Agriculture and Farmers Welfare / W 3R foram Heamr Haray

2. Ministry of Earth Sciences / qza"r [CEIGREINE

3. Federation of Madhya Pradesh Chambers of Commerce and Industry / H&] PRGNS 3R I dR TY

4. MP State Minor Forest Produce Federation / &I TRl Ied ATSR g Ul ST Y

Correct Answer :-

« MP State Minor Forest Produce Federation / %] UcRT [T AR I m qg

Topic:- GENERAL REASONING

1) Mohan is twice as good a workman as Sohan and together they finish a piece of work in 24 days. In how
many days will Mohan alone finish the work? /

g, W B 30T Th PRIR F T A AT 33T ¢ 3R 9 Th 1Y HTH & TH U &1 24 AT & g a
g1 fpa fa & Mg 3P d TH FI THTW BT A2

1. 36 days / 36 fa



2.21days /211
3. 24 days / 24 fa
4.18 days / 18 &

Correct Answer :-
. 36days/36feT
2) Find the missing number: / T BT JTd Be:

4, 10, 22, 46, 94,

1. 190
2. 140
3.184

4. 180

Correct Answer :-

» 190

3) Find the average. / sﬁwr ITd Y|
85, 24, 74, 63, 22 & 56

1. 54

2.58

3.52

4. 56

Correct Answer :-

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W= <t 1 e sreRY ud GBmsil T ShH WART Bl 8 | Ted Hae ugaH |

(i) TE45RM69AM

(ii) TE45RM69AM

(i) TE45PM69AM

(iv) TE45RM69AM

1.1

2.1v



3.1
4. iii
Correct Answer :-
. iii
5) If E = 5, RED = 27, then DANCE = ? /
gfe E = 5, RED = 27, df DANCE = ?
1. 26
2. 25

3.28

4. 27

Correct Answer :-

o 27

6) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

fafuf@d Rr e aR @i § 4 R R @ & o saa s ar e T8 22

EUROPAGES SA

159 rue Anatole France
Hall B

92300 Levallois-Perret

France

(i) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret
France

(ii) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret



France

(iii) EUROPAGES SA
159 rue Anatole France
Hall B

92300 Levallois-Perret
France

(iv) EUROPAGES SA
159 rve Anatole Fronce
Hall B

92300 Levallois-Perret

France

4. iii
Correct Answer :-
e iv
7) If S and N are two sets such that n(S) = 14, n(N) = 24 and n(SUN) = 36, then find n(SQN). /
TfE s 3T N S AT 3T UBR & fF n(S) = 14, n(N) = 24 3R n(SUN) = 36, A n(SON) FTd B |
1.3
2.5

3.2

4. 4

Correct Answer :-

Topic:- PEDAGOGY

1) The temporal-lobe language region is known as: /

ST -TIT YT &7 B BT STl 2:



1. Morgan’s Area / §i99 &=

2. Broca’s Area / STTaT &1

3. Sherrington’ Area / 9rfiare &=
4. Wernicke’s Area / afvie &=

Correct Answer :-

« Wernicke’s Area / af< &=

2) Evaluation approach of lesson planning is criticized on the ground that: /

UTS TS & Yeuip SPHI0 ST 3TaleT 9 & SMYR R $1 S 2:

1. It is not at all structured. / g ﬁ@?«r RNECEHE

2. It integrates different teaching points. / I8 faf¥a fRrefur fdgafi &) Tbiepd dxal |

3. Pupils are left totally unattended. / AT ) T aRe ¥ SrIufyd Bis flea Smar g

4, 1t does not take individual differences of pupils into account. / g w &% GfaaiTd Il?‘fﬂﬁ HI A H :l_s% G dT
gl

Correct Answer :-

o It does not take individual differences of pupils into account. / g faenffal & safeara wanel & e o el Tl
gl

3) In the evaluation approach of lesson planning, the behavior changes are evaluated: /

TS AT & Jeaich SR®I0 §, TAGER § Uikad T eaid- fbdT ordl
1. After each unit / TP wﬁ & dlq
2. After the teaching is finished / Rreror gHT Eﬁef & G

3. Regularly along with teaching / afia =g 3 Rieor o Ty
4, Before giving instructions / BERIEES| tr‘s’@r

Correct Answer :-

« Regularly along with teaching / FaHd =0 ¥ Rigmr & Ty

4) In education, the term 'curriculum' indicates: /

fren #, v ureusH' A @1 YHha® &
1. Extra-curricular activities / tl@?l? Tfafaferat

2. The methods of teaching and the content to be taught / RRI&01 Ugfaai TYT UGTS oI aTel! At



3. The evaluation processes / FedIdh IE
4. The text-material to be used in the class / B&T T Ugdd HEEIGIRICEEIEYI]

Correct Answer :-

+ The methods of teaching and the content to be taught / fRiefor ugfoai TJUT UGTS S ATt Aredt

5) Learners with dyslexia may manifest: /

fsxifaaar & difsa Ranfal # f= g gt 3
1. Personality disorder / CESICACCAN

2. Mental disorder / H I"Ilr%lcb i.aob R

3. Behavioral disorder / THTGO fdhR
4, Reading disorder / Yo fompR

Correct Answer :-

 Reading disorder/ Yo fompR

6) The gland that was conditioned through Classical Conditioning experiments was: /

Y ot srga ey ferufaffa wrge e (eRiea w=s =ifw), warm gRT fbar T ot
1. Parotid gland / RIS UfA

2. Thyroid gland / 3¢ AR

3. Pituitary gland / TS Uy

4. Adrenal gland / Gfmw =y
Correct Answer :-

 Parotid gland / aillés PIR]

7) When a teacher involves a visually challenged learner in group activities with the other learners of the class, she
is: /

gawﬁw,wﬁzﬂﬁ&nﬁaﬁ$&n%mﬁ1&nﬁﬁ%wuwwﬁrﬁﬁﬁﬁm&mm%
dg:

1. helping all the learners to develop sympathy towards the visually challenged learner. /gt ﬁ&‘ﬂfﬁ G| g @

Rremff & ufa Teryfa fawRid 3= # Hag ardl g
2. creating barriers to learning for the class. / P&l & ferg afferm | YT ITF Bl %I
3. making all the other learners lazy and lethargic. / 3= Taft fRrenffal & st 3R g&d CEIR| %l



4, acting according to the spirit of inclusive education. / FHTARIT TRI&T DT HTGHT B SR PRI B

Correct Answer :-

« acting according to the spirit of inclusive education. / FHTAR TR1&T Bt a1 & SR BRI %l

8) When expected external incentive for a behavior decreases the intrinsic motivation for that behavior, it
is known as: /

oid foheft SaagR & fore a1ed) TicaTe 9t I#iiG, 39 SUagR & fIe 3 URum &1 & 3al §, dl 54
Y &Y A ST SITdT 8

1. Hierarchy of Needs / STdRYn dl UglIhH

2. Over Simplification effect / 3P TRATHRO THIG

3. Over Justification effect / 3f& i yuTa

4, Circadian rhythm / S9-IPHIT 3Mac (FIW%TF[ ﬂatl)

Correct Answer :-

« Over Justification effect / 3 NI UuTd

9) The main aim of the classroom teaching is: /

T RA&T HT BT LA &:
1. To help students pass examinations. / BT BT TRIEAT IO} A § Hag BT

2. To develop personality of students. / BT & Afddd ! fAHRIT BT
3. To develop an inquiring mind. / m AT famfd w7l

4, To impart the curriculum. / UTGAh H YgTH hT|

Correct Answer :-

 To develop an inquiring mind. / ﬁﬁﬂﬁ TReTSh fdhRId HT|

10) The cognitive process known as thinking occurs when an individual freely considers a
variety of potential solutions to artistic, literary, scientific, or practical problems. /

TS ufshar, ford fRIa & 99 @ ST ST 8, 99 841 8 o9 BIS Ao pal e,
aifef®, e ar uraifire guware & Juifad fafay g & aR & o 0 A AR srar g |

1. Convergent / SR
2. Logical / i
3. Divergent / SORY



4. Heuristic / 3‘I_j[1:|'|:ﬁ

Correct Answer :-

 Divergent / ORI

11) Educational Psychology contributes to education through ./

RAerfore w=ifaam & AT | e # aReE A 7|
1. Understanding pupil’s problems / faemeff &) Tt o ﬂ'ﬁlglef

2. Understanding teacher’s problems / fR1ef &t THWATS DI HJ-I%I:I

3. Understanding curriculum / UTGRIh H ?Iﬂ%ﬁ
4, Understanding educational problems / QerfOrs TSl @l ﬂﬂ%ﬁ

Correct Answer :-

 Understanding educational problems / QerfOrs TSl @l ﬂﬂ%ﬁ

12) Which of the following should a teacher adopt in a lecture?/

T e oY ArerH (@) | frafafad 9 9 f6a sroar anfge?
1. Elongated tone/ ICESIEGESR

2. Moderate tone / H&H X

3. Precise and high tone / TU¥ 3'ﬁ? 3 A

4. Precise and low tone / ¥ GﬁT ﬁ’H EeEd

Correct Answer :-

« Precise and high tone / TU¥ 3'?[? 3 X

13) Which of the following is the most appropriate method to monitor the progress of children with
learning disabilities? /

SIfRRTH Srerrarsii ara F= @1 wifa B AR & fore = & 9 o9 o fafy watfies sugaa 82
1. Case-study / HI-3{ETT

2. Behavior-rating scale / ATER-CT ¥hdl

3. Structured behavioral observation / TR FATAGING SAcEH-

4. Experimental method / e fafe

Correct Answer :-



« Structured behavioral observation / TRI<d W]ﬁ_d; X CRICE

14) A studious pupil is repeatedly failing in class tests. What is the course of action the teacher should
take? /

TS AgTd] B IR-TR &1 & G0N T 3RI%d ¥6T1 3 | 59 4THd § U R1ed 3t /1 ST aifge?
1. Give her grace marks. / 39 ORI} 3ie < A1RU|

2. Give her impositions. / JUES oAl Bl

3. Find out the reason for her lack of performance. / 39 UGRH H HHI & HRUT &1 Il AT AT |

4. Complain to the parents. / 3fHHTTH] T RIwad B! AR

Correct Answer :-

« Find out the reason for her lack of performance. / ISP YR | o & HRUT &1 Udr T IRy

15) An individual’s personality disorder is most likely to be based on: /

ot safe &1 aafeia iR, A W= enenfya 811 &t 9a siffre JHTaT 3:
1. Emotional shocks / HIdTHD ATUTd

2. Emotional enjoyment / HTI-IT&H D 3{THG
3. Ordinary feelings / HTYIRUT ’-Lﬂ?ﬂTﬁ
4. Physical condition / IRING RUfd

Correct Answer :-

o Emotional shocks / HIdATHD TUTd

Topic:- HOME SCIENCE

1) Name the main protein in the skin that strengthens the epithelium. /
1 H BT WA BT A9 9a139 S IUSAT B Aoigd 94141 3|

1. Chitin / TSI

2. Langerin/aﬂﬁq

3. Laminin / QA

4. Keratin / hefc

Correct Answer :-

o Keratin/ ®3fe



2) Food poisoning ‘botulism’ is caused due to ingestion of. /
QT fauTean ‘qigfoea F e & HRUT BT 3
1. Bacteria present in food, not toxin /

g vard § IR sitary), forsrere et
2. Fungi present in food, not toxin /

e v H Sufyd Has, fauTear g1
3. Toxin present in food, produced by bacteria /

STaT] gRT S, WTe Uerd # Sufeyd faumaaan

4. Toxin present in food, produced by fungi /

@Te] Ut H ash gRT SO fauTadar

Correct Answer :-

» Toxin present in food, produced by bacteria /

SITaTY] §RT I, AT Uerd # Iufd fawradarn

3) Identify the tissue which is made up of cells which are closely packed with one free surface. /

I Sdd DI UFTH B St T HIRTH131T A 9701 @ O T gok A A gd 8 3R T Yot g a1 i &
1. Connective ﬁssue/wﬁﬁw

2. Nervous tissue/?iﬁm Hddh

3. Muscular tissue/a'-‘\’ﬂ'qm

4. Epithelial tissue/ UL AN HdD

Correct Answer :-
o Epithelial tissue/ 3UD AT Hdh

4) Mental retardation with stunted physical growth, defective teeth, protrusion of the tongue and loose
wrinkled skin are the symptoms of: /

SR ARNS faepr, groguf gia, sy o1 afg:avor iR dieft 3T arelt @ & w1y Al daar
T & eor 2

1. Dwarfism / dTHAdT
2. Goitre / TIcIVUS
3. Myxedema | faadistan

4. Cretinism / SISdTHAdI

Correct Answer :-



o Cretinism / SISATHAI

5) The component of controlling in which actions and outputs are examined in compliance with standard

is__ ./
=1 &1 vew forad ue & 1Y SUTa § $RATS 3R ASeYe B T P oS, B
1. controlling / TATH0T

2. checking / SITdl

3. adjusting / FHIAS

4. changing / TREdT=AA

Correct Answer :-
» checking / S

6) The hormone that controls the excretion of water from the kidneys is: /

9% STHIF SNt 9o ([Pe-) A 5T & Soqei- &1 fafid s e:
1. Oxytocin / TSR

2. MSH / THTHTY

3. TSH / dTqed

4. Vasopressin / dEIIR

Correct Answer :-

» Vasopressin / a@'ﬁﬁﬁ

7) The common intestinal infection which leads to dysentery is: /
3l BT WA HHHUT St I B SIS Hl &

1. Gastroenteritis / SATFAMY

2. Infective hepatitis / TehiHd %'afl_&iﬁg

3. Salmonellosis / TETAMARIS

4. Shigellosis / ARy

Correct Answer :-

 Shigellosis / SRS IRSES

8) Obesity leads to and diseases. / "I A 3R INT g1 & %'I

1. Overweight, paralysis / 3if&& do, T&TaTd




2. heart disease, diabetes / E‘QW@‘T, ngﬁ'er
3. Osteoporosis, breaking of bones / SRIGRRTT (STRCATTRIR), SR BT geA
4. Overweight, mobility problems / 3w goM, it ﬁw

Correct Answer :-

« heart disease, diabetes / gad ﬁTf, I[?;[a_é

9) Reflex action is an action where has no role to play. /

yfadi fpares St fpar e oA 6t 1§ yfdrept =18 gl €1
1. sensory nerve / Fdgl dfAchT

2. brain / ARETSH

3. spinal cord / H% Y&

4. motor nerve / URdh AT

Correct Answer :-

e brain / AT

10) Pasteurization involves temperature below: /

RGBT (UTERTESIN) A 399 o arowr siafifed giar e:
1. 110 degree Celsius / 110 f&it Af’m@a

2. 95 degree Celsius / 95 ISR

3. 90 degree Celsius / 90 et afcray

4, 100 degree Celsius / 100 et afery

Correct Answer :-

« 100 degree Celsius / 100 EIRIRIRES]

11) Crippling paralysis of lower limb is caused due to the consumption of. /

¥ IUHNT ¥ SR Fad ST ST U&maTd ghar 2l
1. Kesari dal / BRI (GURY) &1

2. Argemone Mexicana / 3{TorA HfGqeMI

3. Minor millet / BICT STORT

4. Maize contaminated with alpha toxins / 3fcthl foumad qﬁﬂ?ﬁﬁ gfﬁa HIDT

Correct Answer :-



+ Kesari dal / PRI (@W qld

12) Why is the victim not allowed to walk in case of snake bite? /
Ty HTeA & AW § GifSa & i 981 ga= 1 anfge?
1. He may faint. /Rmﬁw%l

2. He may fall. / 98 TR a8

3. He may take it easy./a_s'éﬁé'ﬁ?ﬁaw%l

4. Walking promote circulation. / I I Yo R ﬁﬁ%ﬁﬁ?ﬂ?ﬂ%l

Correct Answer :-

e Walking promote circulation. / Ia 9 Jad AR ﬁﬁ%ﬁﬁ?ﬂ?ﬂ%l

13) Which of the following functions will be interrupted, if ones abducens nerve is damaged? /
afe fpft 1 sruad=i e aiforea 8 oIt 8, ot o wraf & @ @i w1 arfra ghm?

1. Folding of tongue / Gﬂ”ﬁﬁg'_ﬂ

2. Movement of jaws /W@ﬁﬂﬁf

3. Movement of neck / & 1 T1fd

4. Movement of eye ball / D B T

Correct Answer :-

* Movement of eye ball / NS B T

14) vitamin Cis very important for: / et cf = s ﬁl’E qggd 'FI?ET{UT %:
1. Formation of connective tissue / TSl $dd & AT H

2. Good eye sight / ST

3. Preventing anaemia / Q:ﬁﬁl'CIT Ebbf W ff

4. Strengthening bones / B‘E’Eh Eal Holdd HAH

Correct Answer :-

¢ Formation of connective tissue /ﬂ"ﬁh\_rﬁ $Hddh %ﬁtﬁmﬁ

15) Proteins are essential for: / Fﬁ?ﬂ?m ﬁl"’{ ICRUE %
1. Decreasing blood pressure / I 18 HH P o [
2. Getting essential energy for the activities of the body / IR aa?ﬁ?m&ﬁ%%u GESTIRCTT qﬁ%’@



3. Growth and development of new cells /Héaﬁﬁw&haﬁq@ 3R [dH
4. Quick response of the cells to react / WldifehaT B & feT DIfRrebTSHl Bt =fer srgﬁm

Correct Answer :-

» Growth and development of new cells /%Wﬁﬂ%@@ R fawrg

16) Some of the foods which require compulsory BIS certification under PFA act are:
1. Food colours, food additives
2. Instant milk food, infant milk formula
3. Fruits and vegetables
4. Meat and meat products /
o T Uiy Y PFA RIfFraw & dga sifvarda: BIS yaTfiesvur @t sraxgwar &
1. GTRI ¥, QeI ATt
2. @R gy HieH, @Rd Y 3MER
3. Bd 3R Tl
4,919 3R A 3G
l.aandc/a 3ﬁT c
2.aandb/a GhT b
3.aandd/a G?R d

4.candd/c3‘ﬁTd

Correct Answer :-

. aandb/aSﬁTb

17) CANCELLED

Give the correct full form of SASMIRA. /

THUTHUHSITSIRT (SASMIRA) &1 Wg! Iuf = Farsu|

1. Silk and Synthetic Manufacture and Research Association /

2. Synthetic & Art Silk Mills and Research Association /
Riafes s o1 Riew fired Us e Taifiees

3. Silk and Art Standard Mills and Research Association /

4, Standards and Specifications of Mills & Research Association /



Correct Answer :-

» Synthetic & Art Silk Mills and Research Association /

18) CANCELLED

The following aspects that are closely related to Programme Planning are: /
frafefaa var, sidea aean A fAeeaw it §:

1. Plan of work and calendar of work / T8 AISHT 3R BT HTACR! (BTH BT Hael)

2. Supervision and coordination /uﬂ%&rw 3R gHGT
3. Coordination and plan of work / JHdgq GﬁT?ﬂﬁ?ﬂTYFﬂ

4. Coordination and calendar of work / FHdd4 3R B FHrae @mao‘rm

Correct Answer :-

» Plan of work and calendar of work / BT TS 3R BT HIaras (hTH DI %@T)
19) CANCELLED

Credibility in communication means: /

AR # fazaa-aar &1 iy §:

1. Trustworthiness and competence / IJIdTl 3R g

2. Complete and trustworthiness /U;UhT GﬁTﬁWﬂ:ﬂuﬁT

3. Competence and complete /HTq?ﬁ GﬁTEUT?IT

4. Profitable and competence / ATHQIAR I 3R g

Correct Answer :-

» Trustworthiness and competence / Il 3R g

20) CANCELLED

Which of the following is an intense educational activity for motivating and mobilizing a community to action? /
frafafeaa 9 @ o srarg & frg ayera ot wfaxfta a9 ok URa w3 & forg dia e frar 32
1. Campaign / IR pIE

2. Seminar /@ﬁFﬂT

3. Colloquium /ao—cﬁ@m



4, Brainstorming / Wﬁlﬁ:{ (a_"'Ejﬁ-’D

Correct Answer :-

e Campaign / IR pIE

21) CANCELLED

Which of the following is NOT a management approach? /
frfafea & & o9 a1 yeu 3w =g §2

1. Double Entry System /W@m

2. Human Relation / A Jda¢

3. System Approach / IR SUNTH

4, Classic/ FATRID

Correct Answer :-

e Double Entry System /WQ@W

22) CANCELLED

Advertising is based on which of the following functions of communication? /
o=, AR & freafatea § 9 59 o1 R snuriva 82

1. Influence / YHId

2. resource/@?‘f

3. Instruction / &Iﬂ%ﬂ (FXCR)

4. Incorporation JAcutE] (Eﬁafllm

Correct Answer :-
« Influence / UHId
23) CANCELLED
is an individual’s failure in one sphere of activity which is covered up by success in another sphere. /
, Tffaf & Te & o To afaa 3t fawerar ¢ <t fadlt o=y & o W erar & e airdl 3|
1. Projective identification /U@Tﬂw
2. Object / d¥g
3. Compensation / TSI
4. Fantasy / HUI Hiedd (ﬁ'ﬁ?ﬁ)



Correct Answer :-

« Compensation / G3{TdSIl

24) CANCELLED

is the movement of the eye across a design and is a kind of organized movement in continuity. /

T fSSTg & TRY 3R 3@} &1 Jaad 8 iR fARavar # Wufdd Jaad &1 U@ UoR 8|
1. Rhythm / <19 (RaH)
2. Emphasis / UYHId (sﬁr?l%m)
3. Balance /ﬂ.ﬂaq (aaﬂ)
4. Observation / FAR1&for (G‘ﬁ’&q\_rﬁ"ﬂ:l)

Correct Answer :-

« Rhythm / @9 (Ra#)

25) CANCELLED

Epidiascope is also known as: / tlﬁﬁﬁla'slﬁ (qﬁmwﬁu) Ca g WY ST SITar %:
1. Opaque projector / SURERN yafu= (W an

2. Overhead projector / 3eRgs gaftm (Sﬁfﬂﬁg Ehm

3. In-direct projector / Y& gaft= (_&':T-S'W Eh@aa)

4. Filmstrip projector /ﬁv_cﬂ@'q gaf= m Eﬁ@ﬁ??)

Correct Answer :-

» Opaque projector / SURERIT et (W ‘;hm
26) CANCELLED

Which of the following are twill weave fabrics? /
e dds Ao Fus ?

1. All of the above / SURIGT THt

2. Calico, Sergé, and Drill / W, ol 3R ﬁ'g?{

3. Drill, Calico, and Gabardine / ﬁfﬁ, W 3?[? ﬁ—d%:f
4. Gabardine, Drill, and Sergé / ﬁa'l%‘:r, %AT’[ 33? ﬂ\_rf

Correct Answer :-

» Calico, Sergé, and Drill / W, Flﬁf ShT ﬁ'g?‘[



27) CANCELLED

Operant conditioning is also called as: /

foraTRg srgge (sifaie st e ot we Sirar &:
1. Essential conditioning / 3HIdRYdh HJpcld (@WW@TD
2. Instrumental conditioning / HTUT I @F;ﬂ?ﬂ mﬁ"'f)

3. Classical conditioning / IERCIGIEG] 3Jp - (ERWT@@_CT HSIRIT)
4, Observational learning / 3aAIH MTRTH (Gﬁlﬁﬁw el

Correct Answer :-

« Instrumental conditioning / HTY 3fIH e (ST HC HSIRI)

28) We normally walk straight without falling. Which part of the brain brings about this coordination? /

9 I U 9 fomr R e gea &1 9frse &1 919 91 =91 98 9999 aar a2

1. Medulla / Agal

2. Cerebrum / TATKTSH (IRFH)

3. Optic lobes / € TT(eT (31D o)
4. Cerebellum / 3HRTSH (AdewH)

Correct Answer :-

« Cerebellum / 3fTARTS (AdeH)

29) Folic acid requirements for a pregnant woman is:/

o nadl afgen & fore simawae wifers Thie #t A= ?
1. 500 pgm/day

2. 400 ygm/day

3. 250 pgm/day

4. 200 ygm/day

Correct Answer :-

e 400 pgm/day

30) Which part of the tongue has taste buds to taste bitterness?/

Y & v v & peaTee o1 Wi 9@ & R w@ie sfiee i 82



1. Cater of the tongue /ﬁ”%%ﬁ
2. Sides of the tongue /Gﬁ?-[a'Tﬁv_'-Iﬁﬁ
3. Back of the tongue /Gﬁ‘l-f% e |

4. Tip of the tongue / S & 3T YRT H

Correct Answer :-

e Back of the tongue /\_rﬁ‘l-fé e |

31) Salmonella typhi causes: /

FreFiar erswHe SRl $T FRUT I §:
1. Tuberculosis / & I

2. Diarrhoea / SARAT

3. Malaria / Gl

4. Typhoid / TTSHIZS

Correct Answer :-

e Typhoid / CITWITS

32) The diet of a man living on bread and meat will get .
R1dY IR Wi W <Hifaa ve a1a v safda @1 @Rie ghm|
1. all nutrients / gt TIv& ded

2. a balanced diet /ﬁ‘gﬁﬁ 3Bk

3. roughages and vitamins / ¥JcTdle] 3R faerfem

4. only carbohydrates and proteins / Had aﬂﬁfﬂ_{%ﬁ' 3R WA

Correct Answer :-

« only carbohydrates and proteins /Had W@? 3R WA

33) We should make water safe and free from germs and bacteria by ./
B ofdl ) YRI&A SR AU UG Sauyed & gRT 991 91|

1. decanting and filtering / FRaRUT 3R fAdea

2. boiIing/E_@l'IFlef

3. keepingitina refrigerator/@uﬁﬂﬂﬁﬁ?@ﬁ

4, all of these/mﬂlﬁm



Correct Answer :-

e boiling / REINEN

34) Tool(s) of management used at the top management level is/are: /

3 & YU TR IR TEETd fPT SR a1 Ye e IuSl §:
1. Menus /ﬂ:‘L
2. Expansion and leadership / fa%&dR @TW

3. Staff duty lists / TTh ST il
4, Time and work schedules / JHI 3R BT e

Correct Answer :-

e Expansion and Ieadership/ﬁw @TW

35) Shyam sneezed when he inhaled dust. This kind of sudden reaction is an example of: /

T A A A & R YA DI 3R o forar oraw 3 St o 751 e g1 9Tl 39 ave &1 ufafeean,
1S IS ¢ |

1. Reflex action / Ufaadf febaT
2. Muscular action / O=fIT fomar
3. Voluntary action /@%m

4, Coordination / JH<4Y

Correct Answer :-

« Reflex action / Ufdadif fopar

36) The cell organelle that controls all the activities is: /

PR 371 ot ot nfafaferay &) fFAafa swar e:
1. Mitochondria /W@ﬁ%m
2. Endoplasmic reticulum / 3= UGyt SifcrenT

3. Nucleus /7-ﬂﬁ-l$

4, Ribosome / ﬂ%@@ﬂ

Correct Answer :-

¢ Nucleus /7-ﬂﬁ-l$



My friend got her leg sprained. What advice can be given for first aid? /

W o & WA i 3 7TE 21 I JAUYH T WA SUER 37 A1iee?
1. Let him take rest for some time / 39 411 & & [eTT 3RTH HA 1 AT
2. Apply oil and massage thoroughly / T TRTTHR HITS BT AR

3. Apply heat using hot pack / Bic U BT ST B U SSAT ol TR
4. Apply ice in the affected area / gyTad &5 & 9% &I T EllY

Correct Answer :-

« Apply ice in the affected area / THTfad &3 & 9% P! T MBI

38) Which one of the following is the largest and the smallest bone in our body?/
TR # 999 931 3R 9 S sl e W B2

1. Skull and vertebrae/@'q@_ﬁ 3R HRATPT

2. Thigh bone and stapes/mﬁ@ 3R IPTT

3. Vertebral column and nails /WH‘H G?R:lTQH

4. Upper arm and finger bone/m YT @Tmﬁ@

Correct Answer :-

e Thigh bone and stapes/mﬁ@ 3R IPTT

39) Which of the following is a non-living part of the cell? /

fFrfafeaa & S o a1 ST &1 Ue Seiifad HrT 82
1. Cell wall / HIRTepT-fHfT

2. Plasma membrane / g &l

3. Protoplasm / Sagcd

4, Nucleus /:le‘l\-W

Correct Answer :-

o Cell wall / PIRTSI-URT

40) Which of the following types of muscles are in action when you kick a ball?/

W19 317 g Y W A ARG ¢ df {5 upR &) UfRmr erdvd gidt 82
1. Voluntary muscleslﬁmw
2. All of these / TR T+



3. Involuntary muscles / 3{wsh UIRMAT
4. Cardiac muscles /Ea‘ﬁﬁnﬁ?ﬁ

Correct Answer :-

« Voluntary muscles / W IRAT

41) During meal planning of preschool age children, one should avoid: /
eelt oy 3 Tt T 2o T B AR, 59 TR A

1. Vitamin A rich foods /WAWWW%T

2. Foods from family pot / UX T Q]

3. Low energy foods / BH Sl ard @1 gard

4. Finger foods /ﬁ'ﬂﬂ hce

Correct Answer :-

o Low energy foods / H it aTal e uerd

42) Never try to put off fire with water in case of electrical fault because: /

foorelt W1t & SR A arel 3RT Bt Ht ot it @ g 1 TR 9 B /iife:
1. Water spoils the entire wiring / TT-t ¥ T} IR WRIS g1 ST |

2. Too much water is required / 38 o Sgd 31f¥eh Ul 1 A=A g1 |

3. Water is a good conductor of electricity / T, forTelt BT <31 YaTad 8T g |

4. It is ime consuming / 391 §gd {TY® THT AT

Correct Answer :-

o Water is a good conductor of electricity / tﬂ:ﬁ, footett @1 WW@W%I

43) Malnutrition (stunting) represents:/ ﬂ'TCﬁ"Sl'UT (R"%‘T) m%
1. Low MUAC for age / 39 & fg0Td ¥ & T

2. Low height-for-age / 39 & {8919 ¥ HH AT

3. Low weight-for-height / TIT8 & feTd T &H ol

4, Low BMI for age /W%%W@Wﬁ@&ﬂé

Correct Answer :-

e Low height-for-age / 39 & %W JpY (_“Iﬁl'l_sc



44) Normally proteins are body builders, but they can provide energy when there is short supply of .

I IS R & Fafarsd g afpTaswi g e asdewa @I H9 myfd g3
1. supplements / QX

2. vitamin / fqeTioE

3. carbohydrates and fats / BTa(g13gC 3R TIT

4. roughage / ¥¢TdIe]

Correct Answer :-

« carbohydrates and fats / W@T’@T’s’g&' 3R 99T

45) Sugar, salt, vinegar, etc are used in foods like pickles and jams because they act as: /

AR, 70, RR1 31fe o1 ST SR 3R o I @y verdt # fasar oirar ¢ FifP I gu T u A sl o 3
1. Antioxidants / UfcdiS{loiTh RS

2. Flavour enhancers/waﬁa;

3. Preservatives / URR&®

4. Taste makers / re fAutar

Correct Answer :-

e Preservatives / gRRe®

46) Minerals are needed in small amounts. Which of the following is a mineral deficiency disorder? /
@il @1 sraRadar orew AT A gl 3 | Fufafea o @ 1 ve @i~ siyufar flaer 82

1. Scurvy/EO_Cﬁ

2. Night blindness RGN

3. Goiter / &€l

4. Beri beri / ST &_1

Correct Answer :-

« Goiter /¥HT

47) Chew cooked rice in your mouth for some time. You will get a sweet taste. What may be the reason?/

PO GHY & 1T 3y 3= g H YT 31T I1ad a1 | STUH! Th HioT WG faT | 36T HIRUT T 8 Al 82

1. Digestion of carbohydrates to sugar starts in the mouth. / ERICATNY d?ldels\\ic &1 U 4g gt IR HESIGI %’I

2. Saliva contains sugar molecule./ AR At & 3] E?IT-‘T %I



3. Cooking of rice break down carbohydrates. /WWWW@@%H% I
4. Rice contains glucose. / dldd H WT:T ﬁm %I

Correct Answer :-

« Digestion of carbohydrates to sugar starts in the mouth. / 9 & forg Wﬁ?ﬁé‘d CARIEE R ual MW= RIS
48) What is the first aid for bleeding nose? / TJHUR WWUTWWW Eﬁ?ﬂ %?

1. Wash face with hot water/ﬁqﬁﬁa@%ﬁ ﬂﬁl

2. Apply nasal drops / T o ST ardl si’trsﬁmaﬁl

3. Sit upright with head backwards /ﬁl?ﬁblf‘f@ﬁ ah?&?{é@%ﬁé)éaml

4. Blow nose to remove blood / Y& @I fA®TEH & T AT &1 T1H B |

Correct Answer :-

e Sit upright with head backwards/%’x’aﬁ%ﬁ @TWE'Q@@%’O"GTQI

49) The tough elastic fibrous tissue that attach bones is: /

98 BOR AMNIGR YRGR SHad ol gyl &l disd &
1. Muscle / HIURI

2. Tendon / HUSIT

3. Cartilage / JUTRY

4. Ligament / 31U IS

Correct Answer :-

e Ligament / &'@IW

50) Amylase rich foods are prepared to increase:/

TR G @1 Uerd & =1 &1 e & fig R fear wran &
1. Fat content of complementary food /Ui U1 &1 397 Irelt

2. Energy density of the complementary food / I IS B ol gl
3. Carbohydrate content of food / Wﬁﬁﬁ?@?ﬂm
4. Protein content of the complementary food / YI» IS &1 I It

Correct Answer :-

« Energy density of the complementary food / <& WIS &1 oIl Jg-IdT



51) The nutrient that is utilized by our body as a main source of energy is: /

IS o, RIS ST gUR IRR §RT Sl & YB3 Aid & &9 J fhar S g:
1. Carbohydrate / PTRIBIESC

2. Protein / WIEIH

3. Vitamin and minerals / faeTfi 3R @fet uar

4. Fat / ddT

Correct Answer :-

« Carbohydrate /Eh—l_@%'lgg_c'

52) A food is considered to be adulterated if some constituents of the food is removed or added in to it. This
statement is given under: /

gfe HIvH & $© UcH Sl 3TH T ITSIST Sdl 8 of HieH &1 fAramad) 71 SIar 81 98 U= 59%
ded fear T &

1. FPO
2. BIS
3. PFA
4. AGMARK

Correct Answer :-

. PFA

53) Starch in khoa can be detected by using: /

@3 H W BT UdT SYPT IUURT B T ST bl 8:
1. AIcohoI/&Iﬁ'ﬁET“f
2. Tincture of iodine / SMATSIH BT SHfUIYr

3. Hydrochloric acid /B'I?z@ﬂm 3T

4. Carbon tetrachloride / d>l®|r-| Egldﬂ\h{lss

Correct Answer :-

« Tincture of iodine / SIS BT SffHIYOr

54) The common adulterant found in turmeric is: /

ot § UTIT ST 9Tt 9TH Uiy 8



1. Colour dye/qTﬂﬂQ'_‘T

2. Metanil yeIIow/fIETﬁﬁtﬁFﬂ
3. Lime water / :ﬂﬁq'lzﬁ

4. Talcum /éaw

Correct Answer :-

« Metanil yellow / Herfa diar

55) Sealed canned meat should be processed at: /

Hies fsareg wivg & v wr wwrfa (ies) fosar s anfe:
1. 131 degree Celsius for 40 minutes / 40 ﬁlﬂ?%ﬁlﬁ 131 %‘ﬁ@m
2. 110 degree Celsius for 60 minutes /60 &FFC’%%U 110 f&ht Af_may
3. 130 degree Celsius for 40 minutes /40 &FE%%I’Q 130 TS0t AfcTog
4. 121 degree Celsius for 60 minutes / 60 m_"l_c'a?ﬁm 121 %”Jﬂ@m

Correct Answer :-

o 121 degree Celsius for 60 minutes / 60 m_"l_c'a?ﬁm 121 f&3ht Sf_qay

56) The requirement of thiamine increases with the increase in: /

=1 ot gfs & 91y yrafes ot sraxaedar 9¢ 9l 8:
1. Energy intake / 311 & dUGUI

2. Mineral intake / @Sl & S{IGUI

3. Protein intake / TG & S{dUgUl

4. Vitamin intake / [GeTiEA & Sfaigur

Correct Answer :-

« Energy intake / Sl b HﬂﬁE'UT

57) The total weight gain during nine months of pregnancy should be: /

THITRIT & 1 AEH & TR T 961 aoi g1 a1fQ:
1.15-20 kg / 15 — 20 fvarImH
2.10-20 kg / 10 — 20 fh @A
3.10-12 kg / 10 — 12 famA



4.10 - 15 kg / 10 — 15 ThIUTH

Correct Answer :-

. 10-12 kg / 10 - 12 fhaum™

58) Fruit products order was promulgated by Government of India (GOI) in 1946 and was revised in: /

1946 A HIRd WP (SI3N3MTS) GRT B IcUTE TSR TRT fHar wam 47 3R 39 fa=t af & w=nfia foran
g7 YT:

1. 1962
2.1960
3. 1955
4. 1965

Correct Answer :-

« 1955

59) Which of the following methods encourages the growth of microorganisms for preservation? /

frafafaa & @ o @ fafy, dveor & fore geashial ot 9fS & gerdt 82
1. Fermentation / fdhUa

2. Drying / fASTciieRT

3. Blanching / fa¥sH (&ife)

4. Asepsis / 3gfddl

Correct Answer :-

« Fermentation /ﬁ'TUEFT

60) Which of the following is the ready source of energy? /

fFafafEa 4 @ o4 ot o1 awa Sa 82
1. Starch / /™
2. Cane sugar/ﬂaﬁﬁ[ﬁﬂm

3. GIucose/@Tﬂ

4, Fat/ ddT

Correct Answer :-



+ Glucose /’@Tﬂ

61) Which one of the following foods requires severe heat treatment for preservation? /

fArafefaa 7 9 f5a Wiea & IReor & fre rcafie ST & IUUNT H1 Iy dT gl 82

1. Foods with pH value 5.6 / 5.6 pH | aTdl HisH
2. Foods with pH value 2.5 / 2.5 pH A @Tal HISH
3. Foods with pH value 3.5 / 3.5 pH A @Tal HISH

4. Foods with pH value 4.6 / 4.6 pH A aTd YIS

Correct Answer :-

« Foods with pH value 5.6 / 5.6 pH A aTdl HisH

62) An Indian reference women’s BMl is: /

TP URATT afgen 1 drewens wefifa wwar 3:
1. 20.2 kg/m?

2. 21.2 kg/m?

3. 20.5 kg/m?

4. 22.5 kg/m2

Correct Answer :-

+ 21.2 kg/m?

63) The recommended daily allowances for iron for an adolescent girl are: /
for=nvaw o deot & fore wWigd die @1 SrRifa am 8:

1. 40 mg/day / 40 faeum/fea

2.21 mg/day / 21 fociumE/fea

3. 31 mg/day / 31 fieiom/fea

4, 35 mg/day / 35 ﬁl?ﬁ'ﬂmfﬁ:f

Correct Answer :-

« 21 mg/day / 21 forcfom/feq

64) Many families have never made full use of family abilities because of: /



&g URARI 4 U UIRAR BT &HATSAT BT YUl IUANT 6l [T & Hiidb:
1. All of these / SURTeR] FHT

2. Lack of stimuli only / Hdd 3ol &1 HH! el |

3. Lack of appreciation only / dd U= &1 HH! el |

4. No talent only / Had PIs UfdHT el a1 |

Correct Answer :-

o All of these /B'Clﬁaﬂ Tt

65) Personality traits are usually conceived of as being. /

TR UR fkTed T&IoT & EUH aH 914 &

1. Continuous characteristics rather than discrete categories only / PHad 3T A0 B Formg FRax foRivarsi
2. All of these / JURTeT FHT

3. Descriptive labels rather than explanation only / HId WHIHIU & T JUHTHD Add

4. Relatively stable over time only / Had TG & 1Y @&W R

Correct Answer :-

o All of these / SIS G

66) Synthetic detergents are better than soap for cleaning because they )
AETE & forg, Wi sl Ridfew fsfe) g dssmewifv s
1. clean well in cold Water/_o;%m:ﬁﬁ WW@WW%I

2. clean well in hot water / ™ U o 3Bt de dith HIA %I

3. need hard water only / HId BSR UL D oRed Eﬁ?ﬁ %I

4. do not precipitate in hard water / PR UH A 3aafta :rE’pra?f %I

Correct Answer :-

 do not precipitate in hard water / FoR U H saaftd :@)f@?f %I

67) Indicate the correct sequence of activities in the home management process. /
W gy uferar ® fafafiry & |8t o Y sRa &1 |

1. Implementation, planning, feedback, organization / W, o, Uldfesar, T1a
2. Planning, implementation, organization, feedback / ZnT)‘Fﬂ, Wﬁ’q:f, I3, ufafeear
3. Planning, organization, implementation, feedback / tn\_ﬂ:ﬂ, I3, Eb—l'qm'q:f, IGIERN



4. Planning, organization, feedback, implementation / WT, i34, EIWT, CARIECRE|

Correct Answer :-

 Planning, organization, implementation, feedback / q\I\SHI, I3, d?IqTrdqd, yfafeear

68) While washing cotton fabrics, colour can be prevented from bleaching by using. /

Tl UL 411 & SR, 1 & STANT GRT HUS & [T DI KARAT A b1 oI Ghar 2 |
1.Lissapol/ﬁ‘mTcna
2. Caustic soda / HIRCH ST

3. Common salt / GTYRU] FHDH
4. Vinegar / R

Correct Answer :-

e Common salt / HIYRU FHDH

69) Government’s main preventive strategy for under-nourishment in children has been taken up by implementing
the ./

P! FIId HIP T B HH N1 & T RER ot g1 fFrars wHifa dar o1 715 3|
1. All of the above / IR gt
2. Mid Day Meal Programme / HT& IS o

3. Integrated Child Development Scheme / Qchnlcpd CIGAECIREISEI

4. National Iron Plus Initiative / TI'QTC[ RA T Ugd

Correct Answer :-

+ Integrated Child Development Scheme / Qchnlcpd CIGAECIREISEI

70) Ergot, a fungus produces toxin, is associated with. /

3rfie, faured uerd & SUA FRAT TS Fad, & 1Y GUIfora gar 8|
1. Bajra and ragi / dTSIR] 3R IR

2. Jawar and bajra / SdI} 3R FToRT

3. Rye and maize /Tl_sc 3R HIHhT

4. All of the above /m@\_‘f Tt

Correct Answer :-

» Jawar and bajra / SdIR 3R FToRT



71) Fruit juices are primarily spoiled by: / Bl & I 81 =7 A MY gRT @G 8l ¥d &:
1. Bacteria and fungi / \_rﬂaTUl 3R HaD

2. Bacteria and viruses / \_rﬂTJITUl 3R ﬁ'q'l'f{l

3. Yeast and mould / THR 3R W@Q_Q’

4. Fungi and viruses / Pddh 3R ﬁ'ﬁﬂq

Correct Answer :-

e Yeast and mould / TER 3R WEVFC{

72) starts with the modern concept of child development. /
979 faera $t sy sayrRum A IRE giaT g

1. Birth of the child / §= &1 S+

2. Latency stage /@%Fﬁ IROT

3. Phallic stage / BINEEERY

4. Conception / Tyfem

Correct Answer :-

» Conception / ptic

73) involves simple repetitive motor movement or without object which is common during the first
two years of life. /

_ Ay avg 919 91 R QrexTa arel Hiex nfafafRn mmfe S 2, o ofteq & ugd &t auf F IR e B
1. Sociodramatic play / THTSIRIGAT W

2. Constructive play / TITHD Wl

3. Functional play / BT W

4. Make believe play / T & arel @

Correct Answer :-

 Functional play / HATHD WA

74) Fumigation is one of the methods of preservation of clothes, the other method is: /

Y, HUS P &0 P a1 A A TP g, gt fafy 3:
1. Keeping in wooden cupboard / T a1 B SAHRT H IGT
2. Keeping in plastic cupboard / WIRC® P SAHRT H 3@
3. Keeping in steel box / %1d o feaa H a1



4. Wrapping the clothes in newspaper / JHIHR UF H W AT

Correct Answer :-

» Wrapping the clothes in newspaper / HHTR U | mt% YT

75) Intrinsic value is also known as: /

HTAR® Jed &1 39 = | ot 51 S 8

1. Instrumental value / Held®H Hed (s‘c;ﬂtﬂ?i?{[)

2. Value orientation / Hed WW @ﬁm
3. Core value /@TW (ﬁ?a@

4, Terminal value / 3~ HcJ (E'm.:ﬂ 3?1)

Correct Answer :-

o Terminal value / 3~ Hed (E'&f-‘-l?[ a@

76) Keratomalacia is a sign and symptom of . /

YTEOUCTGl (PREARIRAN 1 TS Hdbd 3R W& 3|
1. Tron deficiency / 3{TSX DI HHI

2. Vitamin A deficiency / faeTfi T ot St

3. Vitamin D deficiency / faerfiq St ot st

4. Vitamin C deficiency / faeTfaq Ot &1 &t

Correct Answer :-

e Vitamin A deficiency / faerft= Yy I A

77) Howard Gardener proposed 8 types of intelligence, which included: /

T8 MER A 8 UPR B giwar &1 wga fpan, Rrad aftifea &

1. Musical skills, Interpersonal skills, Fine Motor skills / Tifia EI%’QIF‘[, TRWUN® EI%QWL NINGRACRGAEN]

2. Interpersonal skills, Naturalist skills, Musical skills / URWUN® W, Qm ﬁ'-‘flﬁ, Iid aﬁw

3. Fine Motor skills, Naturalist skills, Musical skills / qAferd Aiex aﬁw, U@ﬁw aﬁm?r, Tid ﬁw

4. Fine Motor skills, Interpersonal skills, Naturalist skills / qferd AR ﬁw, RS W, q@ﬁw PR

Correct Answer :-

« Interpersonal skills, Naturalist skills, Musical skills / TREAR® PRI, U HIRTd, Hifid HIRId



78) The most ideal type of parenting is thought to be: /

| UTAH-UIY0T BT Y 3SR YPR AET AT 2
1. Neglectful/atR_Ol'ITs'

2. Permissive / IIHIGH T AT
3. Authoritative / 3MTIBIRD

4. Authoritarian / 3{fBRaTC]

Correct Answer :-

« Authoritative / 3TIHIND

79) The olive green colour of leafy vegetables formed due to intense heat is because of J
T ff & FRU TR TfTEl ST A T[T Ftaos A FAffagarg 21
1. Tannin / o

2. Flavones / Taqg
3. Carotene / BRI

4. Pheophytin / firaiwreies

Correct Answer :-

« Pheophytin / fiharmrgfeq

80) The cut offs given by WHO, (2006) to categorize a child ‘normal’ as per BMI for age is: /
TeH3ATS & SR, TH T B TR THd e & ¢ SIS (2006) TRT AT W FHe 3416 59 31
& fere 8

1.-2SD to +1SD / -2U¥s! ¥ +1THS! dh

2. -1SD to +2SD / -1UHS! ¥ +20HS] ddh

3. -2SD to +2SD / -2UHS! ¥ +2UHS! ddh

4. -3SD to +1SD / -3UHS! ¥ +1THS! AP

Correct Answer :-

e -2SDto +1SD / -2UYS! ¥ +1UTSl d&

81) The scientific study of man and his working environment is called ./

T 3R ISP HTAGRI TRl & b AT B HeT AT gl
1. Work supervision / i gdaem



2. Demography / SRS

3. Ergonomics / AHG&dT ¥ @Wﬂ:lﬁil?ﬂ:l)
4. Occupational health / SIS WG

Correct Answer :-

« Ergonomics / HHGEAT RR (SITHITHRT)

82) The best indicator for physiological maturity during childhood is present at: /

AU & R RIS altusar & e qad 3rsT Hohde @:
1. Adolescence / fraRERT

2. Height and weight / st‘ 3R T

3. Skeletal development / HH1d faBr™

4, Muscle tissue / AUt Sae

Correct Answer :-

« Skeletal development / HepTd [dHTI

83) An example of the evocative child-environment interaction or correlation is: /
SEIUP T - TATIRYT TR HUP I1 HgaY BT TP &8I o:
1. A shy child is extreme bookish and socially avoidant /
U e o= Sifd UgId § SR AHifoied U § &9 aTa g |
2. None of the above / SURIGd & I P1g U 78T

3. An attractive child elicits interest and support from adults /

TP 3HYD S TUWh] I T 3R o UTed BT 2|

4. An extroverted child seeks out the company of only similar children /

U SfeH! = Had 3T 8 aRE & Sl & 1Y P A AT ] |

Correct Answer :-

» An attractive child elicits interest and support from adults /

TP 3HYD S TUWh] J Tl 3R JHdT Ured B 2|

84) Which of the following is considered to be protective food group /
Frafafeaa & @ @19 91 JReTS Te IHg AET ST 8:
1. Fats and oils / 94T 3R qd



2. Fruits and vegetables / < 3R Yl
3. Cereal and pulses / 3 3R Tl
4. Milk and milk products / g¥ 3R ¥ 3diq

Correct Answer :-

* Fruits and vegetables / ! dl 3R Tfeqyi

85) Which of the following is used in making a more detailed study of some particular part of the process? /

ihaT & $© faRIw U 37 3ifre favga sreaae weq A FPafofaa & 3 feae suai far smar 82
1. Cycle graph / T Tt

2. Micro motion film / HIgch! HIRM fthed

3. Process chart / UfehaT ATC

4. Operation chart / 3TORTH ATE

Correct Answer :-

o Operation chart / TR TTe

86) Which one of the following features is not applicable to striated muscle? /
forg afofa fawarsit & & 1 wft ve Y U=h & R arp Y gt 32
1. They are usually attached to the bones. /
3 SR W R | G gl B
2. They are uninucleate. /
d T Jbsd 3|
3. They show alternate light and dark bands. /
q PP gedb 3R TTeR Ue e g

4. They are long, cylindrical and unbranched. /

3 e, SOIPR IR IR TfEd g1

Correct Answer :-

« They are uninucleate. /
CRCIURE -t oA

87) Which of the following fabrics are known for their strength? /
fFrafafaa & @ @19 91 FusT IUS! dred & e ST wrar 82
1. Satin and casement / JIcH 3R FIHC



2. Mulmul and satin / HTHT 3R g1cH
3. Denim and casement / ST 3R Hadc

4, Casement and mulmul / Hguc @T HAHA

Correct Answer :-

e Denim and casement / 2T SR adc

88) Mycotoxins are produced by ./

B IECaICaE RT IdTfed g &1
1. Bacillus / M-Ple

2. Moulds / tﬁﬁg_c(r
3. Yeast / THR

4. Virus /ﬁ'sﬂ'fﬂ

Correct Answer :-

e Moulds / tﬁﬁg_c(r
89) CANCELLED
Arrange the following steps in the correct sequence.
I. Arrive at statistical conclusion
II. Analyse data
III. State the research question
IV. Collect data
V. State statistical question

VI. Arrive at research conclusion /

g1 3rgepd | Fuferfead wRon o orafRya s
1. gifemeg ey wR ugasn

II. ST & faeyur S=r

IIL. SNY U F40

1V. HifSTSIg vy FarmT

V. STTHIE ST

VI. 3JHYH fAspd W ugan

1. VIL L IV, II, VI



2.1L IV, 1LV, 1, VI
3.100, V, IV, I, 1, VI
4. 11L VLIV, LI, V
Correct Answer :-
o IILV, IV, 1L, 1, VI

90) CANCELLED

Outdoor publicity media include: /aﬁﬂ (GIK'E@?) TR Hifgar ﬁﬂ'ﬂ'lﬁ'@%
1. Flash cards /U%QTW

2. Posters and banners /thm aﬁ?éﬂ?

3. Flip charts /]C%I'E[Eﬂ_cc

4, Pie charts /tIT'stEl'I_cF

Correct Answer :-

e Flash cards /EI%-‘ZTWTS:
91) CANCELLED

Which among the following is the community services offered in the interest of the public? /

fFrefafaa & 3 o9 dt ageiRie Jang, -1 & f2d ® wga o1 91t 82
1. Transport, social and conveying / uﬁ‘d‘s’:r, FI'ITI'IW, o

2. Protection, transport and communication / TR&UT, qRkdg- 3R TR

3. Communication, social and transport / '{'itlli, '{-IIJ-IIR?IGD, ui‘eqs—l

4. Social, reporting and protection / 1S, ROifé , TR&foT

Correct Answer :-

» Protection, transport and communication / W&‘WT, Hi\QOIE;"I \3?|T IR
92) CANCELLED

When a hypothesis is false but the experimenter mistakenly accepts it, he/she is making a ./

?wwmwmmm%wmmawmmamg P TG
|

1. standard error / HIFe Ffc
2. probability error / HTGT e

3. type I1error/ E'I'sfqllif%



4. type I error / CIU I_aﬁ
Correct Answer :-

. typeIlerror/ CRUIIF]C

93) CANCELLED

The maximum permissible residue in foods allowed for DDT is: /

DDT & fe arqwa wrer uerdf ¥ siftreaw wiier safdy @:

1. 7—-10 ppm
2.5-10 ppm
3.10-20 ppm
4.3-10 ppm

Correct Answer :-

94) In fruit juice preserve, juice and sugar ratio should be: /
T T WR&UT §, S 3R T &1 Srgura e g anfee:
1. 25% fruit juice and 45% crush / 25% Tl BT oY 3R 45% H

2. 25% fruit juice and 65% sugar in fruit syrup / 25% Bl &l S 3R Bl & RRUH 65% HH1
3. 25% fruit juice and 65% crush / 25% WW@ 3R 65% B

4. 25% fruit juice and 55% sugar and crush / ZS%WWW 3R 559% A iR B

Correct Answer :-
+ 25% fruit juice and 55% sugar and crush / 25% WWW 3R 559% A iR Hw

95) Which of the following finishing techniques is most appropriate for a fabric to be used on the seats in a
movie theater? /

R fRIger 7 diel W sw9e g1 9 $us & g Fafafed d & o 9 uRsawor qo-ile 9ed Suge 872
1. Mildew proof and antistatic / UG e 3R HfaRfds

2. Non-pilling and calendared / TR-ffehT 3R Faiss

3. Soil-resistant and fire-retardant / HE1-OfcRTeR 3R BRI

4. Sanforised and water repellent / STHRISTS 3R S fApdH

Correct Answer :-



« Soil-resistant and fire-retardant / ﬁ@of—m(}ﬂ g 3R SRR

96) Which one of the following statements is INCORRECT about ozone? /

e & fawg & 2 few 1T Sy § & S99 91 T Tad 272

1. It is present in the stratosphere. / T8 THATT HSd (TBIMR) H AN 7|

2. It protects us from UV radiations of the sun. [/ dg g ﬁif & Elzﬁ faferzon & s=mar §1

3. Depletion of ozone is responsible for green house effect. / 3T BT Wsﬂ?mum & ﬁlﬁm %I
4. Its depletion is caused by CFCs and aerosols. / YH®T BIY M Td @@ﬁ H BRUT Eﬂ‘cﬂ %I

Correct Answer :-

o Depletion of ozone is responsible for green house effect. / WWWWWUW%%’Q Jkq 3] %I

97) Microbes that generally enter the body through the nose are likelytoaffect __ ./
1% & AW | YRR A YA H4 a1 Sfiarv] (AIEshied) JHT: B guIfad Ha 21
1. liver /9P d

2. lungs /m

3. gut/STiT‘f

4. lymph nodes/?‘lwtl—q;

Correct Answer :-

e lungs /m
98) During respiration, exchange of gases occurs in the ./
YT S IR, AP PTAEH-YSH__ A gar gl

1. alveoli/ W@W
2. bronchi / %ﬂﬂ:ﬁﬁ
3. lungs / m

4. blood / Yad

Correct Answer :-

 alveoli/ W@W

99) Hypersecretion of growth hormone results in gigantism. Hyposecretion of the same results in: /

S TRAEN & SRRAPE & TRAVRGEY UGG giar 31 THH TR & grsniRishe 3 A= ghm:
1. Diabetes / AYHE



2. Dwarfism / STHAT (SaTfthoH)
3. Goiter / ¥
4. Cretinism / STSATHAAT (hief-oH)

Correct Answer :-

« Dwarfism / GTH-TAT (SaTthoH)

100) A balanced diet contains
TS Adfd WieH ¥, T AT H g 2l
1. all nutrients / 94t 0¥ da

in right amounts. /

2. carbohydrate only/ahcm wldelse;.c
3. protein, carbohydrate and fat/l;ﬁ'cﬁ:[, W@? 3R g1
4. protein only / %dd WicH

Correct Answer :-

« all nutrients / 94t 0Iv® d



